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QUESTION 1
Heroku Connect data replication happens:
A. Near real time for writes to Salesforce. and on a 30-second polling window for writes to Heroku Postgres

B. Near real time for writes to Salesforce. and either on a polling window or near real time for writes to Heroku Postgres
(depending on the user configuration)

C. Instantly in both directions
D. Near real time in both directions

Correct Answer: B

QUESTION 2

Universal Containers has recently experienced a higher volume of traffic on their mobile app hosted on Heroku. When
Universal Containers was running 4 standard-2x dynos with 1 GB RAM each, they encountered multiple H12 ("request
timeout") errors. The app never consumed more than 800 MB of RAM. They then switched to performance-m dynos,
with 2.5 GB RAM, and set autoscaling to a maximum of 2 dynos. However, they still encountered H12 ("request
timeout") errors.

What remediation should an Architect recommend to alleviate this problem?

A. Move long-running tasks to worker dynos.

B. Add a logging add-on from the Elements marketplace.

C. Upgrade to performance-L dynos with 14 GB RAM.

D. Replace autoscaling with a manual scaling option of 2.

Correct Answer: A

QUESTION 3

Which two logs and logging recommendations are prescribed by the Twelve-Factor app methodology? Choose 2
answers.

A. Apps should not concernthemselves with routing or storing logs

B. Logs from all processes and backing services should be aggregated together.
C. Logs should be written to a shared file system for scalability.

D. Apps should only keep a limited, rolling buffer of logs available

Correct Answer: AB

https://devcenter heroku com/articles/internal-routing
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QUESTION 4

What set of configurations make up Scheduling Policies and let companies adhere to their business constraints and
preferences?

A. Service Levels and Work Rules

B. Service Objectives and WonX Rules
C. Service Contracts and Service Levels
D. Service Objectives and Work Types

Correct Answer: B

QUESTION 5

Universal Containers (UC) is opening offices in Japan and Germany. This will allow them to serve new customers in
Asia and in Europe. UC is concerned about application latency for their new customers, especially because the app
serves large amounts of dynamic content.

Which Heroku Enterprise feature should an Architect recommend to alleviate this concern?

A. Create Salesforce orgs in each region and use Heroku Connect to link them.

B. Deploy instances of their applications into Private Spaces in Tokyo and Frankfurt.

C. Deploy a globally-distributed CDN in front of the application.

D. Create a Heroku Pipeline to mirrorthe app and its data in each region.

Correct Answer: A
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